

HSP3U– Social Structures and Institutions


HSP3U QUIZ, V.1: SOCIAL INSTITUTIONS ACROSS CULTURES/
CHANGES IN SOCIAL INSTITUTIONS

MULTIPLE CHOICE (6 marks)
Circle the letter that best completes the sentence.

1.  Each family has a senior wife who plays the role of confidant of the other wives in:
     a)  double marriage in Nigeria
     b)  arranged marriage
     c)  fraternal polyandry in Tibet
     d)  polygyny in Africa
     e)  Western marriage

2.  The social institution of work is viewed in Western culture as a(n):
     a)  personal  social institution
     b)  way of life
     c)  burden and a way to make money
     d)  informal social institution
     e)  means to reduce population growth

3.  In the video, Some Kind of Arrangement, modern arranged marriage: 
     a)  eliminates free-choice
     b)  does not consider compatibility between partners
     c)  forbids divorce
     d)  has become more of an introduction service
     e)  is biased more towards males

4.  Reduction of family conflict is one the main beliefs in:
     a)  arranged marriage
     b)  the western justice system
     c)  traditional work structures 
     d)  double marriage in Nigeria
     e)  fraternal polyandry in Tibet

5.  An example of a group in religion would be:
     a)  denomination
     b)  minister
     c)  worshipper
     d)  meaning of suffering and loss
     e)  missionary

6.  A family grouping of two parents and children from previous marriages is called a:
    a)  single-parent family
    b)  inter-racial family
    c)  blended family
    d)  multi-generational family
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